
Adenoma1.
Papilloma 2.
Cystadenoma3.
Papillary cystadenoma 4.
Polyp (could be neoplastic or inflammatory)5.

Mesodermal tumors don't produce mucin but form a matrix

Mesenchymal tumors form sheets of cell e.g middle pic, consistent 
with sarcomas

Papilloma: forms finger like
Transitional cell: urothelial(current naming)
Melanoma=melanocarcinoma(used less)

Excessive mucin production can cause electrolyte imbalance eg 
hypokalemia in some mucin-secreting tumors of the colon

Pap stain for keratin

CA: carcinoma
Cancer is not synonymous with carcinoma

Cervix: ectodermal vs endodermal

PAS: periodic acid Schiff; used to detect polysaccharides such as 
glycogen, and mucosubstances eg mucin

The red dots: keratin pearls

Pic from ovary

Clear bcoz of the chemicals used in the processing eg alcohol. Clear 
cell carcinoma of the kidney

Cervix can also have papillary growth

Sarcomatoid carcinoma of the kidney
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